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QUESTION 1

Given: 

A session bean Foo uses container-managed transactions The container throws a
javax.transaction.TransactionRolledBackException when the doStuff method runs. Which transaction attribute can the
doStuff method have for this to occur? 

A. NEVER 

B. MANDATORY 

C. REQUIRES_NEW 

D. NOT SUPPORTED 

Correct Answer: B 

 

QUESTION 2

Which statement about entity manager is true? 

A. A container-managed entity manager must be a JTA entity manager. 

B. An entity manager injected into session beans can use either JTA or resource-local transaction control. 

C. An entity manager created by calling the EntityManagerFactory.createEntityManager method always uses JTA
transaction control. 

D. An entity manager obtained through resource injection in a stateful session bean can use a resource-local
EntityTransaction for transaction control 

Correct Answer: A 

 

 

QUESTION 3

Given the following code in an EJB 3.0 session bean: 

10.

 @Resource(name="jdbc/employeeDB") 

11.

 private DataSource dataSource; 

12. 

13.
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 public void lookupEmployee(String id) { 

14.

 InitialContext ic = new InitialContextO; 

15.

 // insert code here 

16.

 DataSource ds = (DataSource) obj; 

17.} 

Which code, inserted at Line 15, portably looks up the injected resource? 

A. Object obj = ic.lookup("employeeDB"); 

B. Object obj = ic.lookup("dataSource"); 

C. Object obj = ic.lookup("jdbc/employeeDB"); 

D. Object obj = ic.lookup("javacomp/env/employeeDB"); 

E. Object obj = ic.lookup("java:comp/env/jdbc/employeeDB"); 

Correct Answer: E 

 

QUESTION 4

Which two statements are correct? (Choose two.) 

A. An EJB 3.0 message-driven bean can itself be the client of another message-driven bean. 

B. The client of an EJB 3.0 message-driven bean can use the bean\\'s remote business interface to communicate with
the bean. 

C. Every client of an EJB 3.0 JMS message-driven bean must be a Java application that uses the JMS API to
communicate with the bean. 

D. Messages sent to JMS topics are intended for only one receiver whereas messages sent to JMS queues are
intended for multiple receivers. 

E. Ifthe client of an EJB 3.0 message-driven bean awaits a reply to its request, the client can set the JMSReplyTo
attribute to provide routing information to the bean. 

Correct Answer: AE 

 

QUESTION 5

Which two are programming restrictions in the EJB 3.0 specification? (Choose two.) 
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A. An enterprisebean must NOTattempttoloadanative library. 

B. An enterprise bean must NOT declare static fieldsasfinal. 

C. An enterprisebeanmust NOTattemptto createa newsecurity manager. 

D. An enterprise bean mustNOTpropagate a RuntimeExceptiontothe container. 

E. An enterprise bean must NOTattemptto obtain ajavax.naming. InitialC ontext. 

Correct Answer: AC 
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